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IBPS Target Batch Schedule 

Monday- Basic topic ( 10min Quiz )

 Tuesday- Basic topic ( 10min Quiz )

Wednesday- Basic topic ( 10min Quiz )

 Thursday- DI special ( Prelims Level )

 Friday- Top Trending Questions ( Word 

Problems) - Same or Miscellaneous

 Saturday- Mains Magic ( Mains level) 





In nut and bolts factory, one machine produces only nuts at the rate of 100 nuts per minute 

and need to be cleared for 5 minute after production of 1000 nuts. Another machine 

produces only bolts at the rate of 75 bolts per minute and need to be cleaned for 10 minutes 

after production of every 1500 bolts. If both the machine start production together what is 

the minimum duration required for producing 9000 pairs of nuts and bolts ?

A. 180

B. 160

C. 170

D. 185

E. NOT

नटऔर बोल्ट कारखाने में, एक मशीन प्रति तमनट 100 नट्स की दर से केवल नट्स का उत्पादन करिी है और 
1000 नट्स के उत्पादन के बाद 5 तमनट के तलए साफ करने की आवश्यकिा होिी है। एक अन्य मशीन प्रति 
तमनट 75 बोल्ट की दर से केवल बोल्ट का उत्पादन करिी है और प्रत्येक 1500 बोल्ट के उत्पादन के बाद 10 
तमनट िक साफ करने की आवश्यकिा होिी है। यदद दोनों मशीनें एक साथ उत्पादन शुरू करिी हैं , िो 9000 जोडे 
नट और बोल्ट के उत्पादन के तलए आवश्यक न्यूनिम अवति क्या है?



Given the roots of quadratic equation: 1/5 and 2/3

find the quadratic equation derived from those roots and divide by 2 and 2.5 x2 – 0.5x 

added to it. Find the product of root of newly formed equation is ?

A. 1/10

B. 2/5

C. 3/10

D. 7/10

E. 4/15

दिघाि समीकरण के मूलों को देखिे हुए: 1/5 और 2/3 उन जडों से प्राप्त दिघाि समीकरण को ज्ञाि 
कीजजए और इसमें जोडे गए 2 और 2.5 x2 – 0.5x से ववभाजजि कीजजए। नवगदिि समीकरण के मूल का 
गुणनफल ज्ञाि कीजजये?



48 liters of glycerin is mixed with 144 liters rose water. D liter of total mixture is taken out 

and 32 liter glycerin and 48 liter rose water added in the mixture. The final mixture 

contains 30% glycerin. Find the quantity of mixture that is taken out ?

A. 40

B. 32

C. 34

D. HNHP

E. NOT

48 लीटर जललसरीन को 144 लीटर गुलाब जल के साथ तमलाया जािा है। कुल तमश्रण का डी लीटर तनकाला जािा है 
और तमश्रण में 32 लीटर जललसरीन और 48 लीटर गुलाब जल तमलाया जािा है। अंतिम तमश्रण में 30% जललसरीन 
होिा है। तनकाले गए तमश्रण की मात्रा ज्ञाि कीजजये?



A man can complete a job in 91 days. He works alone Day 1. On day 2, he is joined by 

another person who also can complete the job in exactly 91 days. On day 3, they are joined 

by another person of equal efficiency. Like this, everyday a new person with the same 

efficiency joins the work. How many days are required to complete the job ?

A. 12

B. 15

C. 13

D. 14

E. 11

एक आदमी एक काम को 91 ददनों में पूरा कर सकिा है। वह पहले ददन अकेले काम करिा है। दसूरे ददन, वह एक 
अन्य व्यवि से जुड जािा है जो िीक 91 ददनों में काम पूरा कर सकिा है। ददन 3 पर, वे समान दक्षिा वाले दकसी 
अन्य व्यवि से जुड जािे हैं। इस िरह, हर ददन एक ही दक्षिा वाला एक नया व्यवि काम में शातमल होिा है। कायय 
को पूरा करने के तलए दकिने ददनों की आवश्यकिा है?



Two trains, 100km apart, travel towards each other on the same track. One train travels at 

40km/h and the other travel at 60 km/h. A bird starts flying at a speed of 90km/h, at the 

same location of the faster train. When it reaches the slower train, it turns around and flies 

in the opposite direction at the same speed. When it reaches the faster train, again it turns 

around and so on. When the two trains collide, how far has the bird flown ? 

A. 100

B. 90

C. 175

D. HNHP

E. NOT

100 दकमी की दरूी पर दो टे्रनें एक ही टै्रक पर एक-दसूरे की ओर जािी हैं। एक टे्रन 40 दकमी/घंटा की गति से 
यात्रा करिी है और दसूरी 60 दकमी/घंटा की गति से यात्रा करिी है. एक पक्षी िेज गति से चलने वाली टे्रन के 
समान स्थान पर 90 दकमी/घंटा की गति से उडना शुरू करिा है. जब यह िीमी गति से चलने वाली टे्रन के पास 
पहंुचिी है, िो यह मुड जािी है और उसी गति से ववपरीि ददशा में उडिी है। जब यह िेज गति से चलने वाली टे्रन 
िक पहंुचिी है, िो दफर से यह मुड जािी है और इसी िरह। जब दो टे्रनें टकरािी हैं , िो पक्षी दकिनी दरू िक उड 
िा है?



A man marked up of article A at 60% above its cost price and sold it at discount of 25%. 

Profit made by him on article A is 475rs. If the cost price of article B is 40% more than 

that of article A and profit on both article is same, then find selling price of article B ?

A. 3300

B. 3600

C. 3000

D. 3800

E. 4200

एक व्यवि वस्िु A को उसके क्रय मूल्य से 60% अतिक पर अंदकि करिा है और इसे 25% की छूट पर बेचिा है। 
अनुच्छेद A पर उसके िारा अजजयि लाभ 475 रुपये है। यदद वस्िु B का क्रय मूल्य वस्िु A से 40% अतिक है और 
दोनों वस्िुओं पर लाभ समान है, िो वस्िु B का ववक्रय मूल्य ज्ञाि कीजजये?



R, S and V start a business by investing 70000rs. R invests his share in the profit in a 

scheme that gives him 10% interest compounded annually and S invests his share in a 

scheme that gives him 20% interest annually. R gets 2520rs as interest at the end of 2 years 

and S gets an interest of 4200rs at the end of one year. Find the investment of V ?

A. 16000

B. 37000

C. 40000

D. CND

E. NOT

R, S और V 70000 रुपये तनवेश करके एक व्यवसाय शुरू करिे हैं। R लाभ में अपने दहस्से को एक ऐसी योजना में 
तनवेश करिा है जो उसे सालाना 10% चक्रववृि ब्याज देिी है और S अपने दहस्से को एक ऐसी योजना में तनवेश 
करिा है जो उसे सालाना 20% ब्याज देिी है। R को 2 वर्य के अंि में ब्याज के रूप में 2520 रुपये तमलिे हैं और S 
को एक वर्य के अंि में 4200 रुपये का ब्याज तमलिा है। V का तनवेश ज्ञाि कीजजये?



2 men can build a wall in 15 hours and 20 hours respectively but if they work together, 

they use 280 less bricks per hour and build a wall in 12 hours. Find the number of bricks in 

the wall ?

A. 7200

B. 8100

C. 7800

D. 8400

E. NOT

2 आदमी क्रमशः 15 घंटे और 20 घंटे में एक दीवार बना सकिे हैं लेदकन यदद वे एक साथ काम करिे हैं, िो वे 
प्रति घंटे 280 कम ईंटों का उपयोग करिे हैं और 12 घंटे में एक दीवार बनािे हैं। दीवार में ईंटों की संख्या ज्ञाि 
कीजजये?


